M141
Dr. Ougouag
Worksheet: 5.1

Match the point in polar coordinates with either A, B, C, or D on the graph.
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Plot the points given in polar coordinates.
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Solve the problem.

3) Plot the point [4, %] and find other polar coordinates (r, 08) of the point for which: 3)
(@ r>0, -2m=06<0
(b) r<0, 0=6<2m
© r>0 2m=6<4m
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The polar coordinates of a point are given. Find the rectangular coordinates of the point.
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The rectangular coordinates of a point are given. Find polar coordinates for the point.
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C) {—4 2,- T]

Someanswers: 1)D 4)A 5) A 6) B



